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Directions (1-5): Study
information carefully and
questions given below:

Eight persons P, Q, R, S, T, U, Vand W were born in
different years viz. 1994, 1996, 1998, 1999, 2001,
2002, 2004 and 2005 but not necessarily in the
same order. Base year is counted as 2021.

At most one person is older to P. Two persons
were born between P and V. Q was born just
before V in the odd numbered year. R is 4 years
older to T. W is older to U and just younger to S.

et S w1 eamgEs e fifvw six
= fRT T e & ST T

A AREP, Q R, S, T, U, V 3T W T ST7H -3
FUT FATT 1994, 1996, 1998, 1999, 2001, 2002,
2004 3T 2005 H AT AT AT STEAT AR T THT FH
H g3 211 2021 T IR Y & &9 § =7 171 21
srfers o Tfars TR AREF P A T=T I P AR VR i ar
SITRAT T STH gl AT| Q T S+ [EWH H&aT ater a9
HVESF IRA A ATI R, TH 4 AT AST I W, U H
TET 2 3T ST & Frar 2

the following
answer the

Q1. Who was born in the year 19987
9 1998 # foraeht STew gatr =2

(@P

(b) Q

(AR

(AT

(e)U

Q2. In which year S was born?
S T ST fohey a9  gafr &2

(a) 2002

(b) 1999

(c) 2001

(d) 1998

(e) 2005

Q3. Which of the following statements is true?
et wat o ¥ FF-971 97 82

(a) P was born in 1994./ P &T 7/ 1994 H g1 AT
(b) V was born in 1996./ V &T ST#H 1996 H gaTT =T
(c) T is the oldest among all./ T &+t H FaH I=T¢
(d) U was born in 2002./ U T ST#7 2002 # g =T
(e) Risolder thanP./ R, PHIETE

Q4. How many persons were born between W and
T?

W 3fIT T o &1 fohae SRl T STv gar?

(@)1

(b) 2

(c)3

(d) 4

(e) Cannot be determined/ HeTa agl T ST
HendT

Q5. Who is the oldest person among them?
SH H HaH TET ATh DI 57

(@) P

(b) Q

(c)R

(d)S

(e)V
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Directions (6-8): In each of the questions below
some statements are given followed by two
conclusions. You have to take the given statements
to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions
and then decide which of the given conclusions
logically follows from the given statements
disregarding commonly known facts.

= U T gF vy ¥ Fg HAT S 39 918 &f
T T 10 ) SOt T30 1T AT ' /AT,
T &f of ATHTAA: STq azd1 § {9 Idqia grd gil 997
et &t afew s e qa fifvo f faw o fRoeat
H | we-ar Aewd e ST Tl w7 Asears
LA g0 30 0 AT 7 qTioheh ©F F AT FAT 2
(a) If only conclusion I follows./ If% Fael At |
AL FEAT S

(b) If only conclusion II follows./ % Faer R 11
AL FEAT S

(c) If either conclusion I or II follows./ % =T aT
Ao [ 97 11 SR #3ar 8

(d) If neither conclusion I nor II follows./ If< T T
e [ ST T &1 1 T Feal g

(e) If both conclusions I and II follow./ Zfs AR |
A 11 FEAT ST FXd &

Q6. Statements: All flowers are plants. Only a few
plants are fruits. No fruits is vegetables.

FAT: TAT B G gl A T Gel B gl Hle B
Tesit Al 2l

Conclusion I: Some flowers are fruits.

A I T2 5 T &

Conclusion II: Some plants are not vegetables.

P 11: % i AR A 2

Q7. Statements: All mammals are bird. All birds
are eggs. No eggs are reptiles.

FAT: AT T Teft g1 T Teft o g1 we ST
T T2 8

Conclusion I: Some mammals are eggs.

Ay I: = T S €l

Conclusion II: Some reptiles can be birds.

s 11: T 09T 781 g7 T 5

Q8. Statements: Only a few apples are oranges. All
oranges are bananas. Only bananas are grapes.

FAT: A T °F HAL gl T HAL bl gl Had el
Ep e

Conclusion I: Some apples are bananas.
A I: 7= |9 &t 2
Conclusion II: Some grapes are not oranges.

ey II: 2 s L T8 2

Directions (9-13): Study the
information carefully and
questions given below:

Nine boxes are arranged one above the other.
More than four boxes are placed below the box G.
Three boxes are placed between box G and box H.
The numbers of boxes are placed above box H is
same as the numbers of boxes placed below box C.
Box A is placed two places above the box E which
is placed just above the box I. Box F and box H are
not placed adjacent to each other. Box B is placed
above the box D but placed below box E.

FRaffea sl # 1 samgEs seggaa i =ik
= fow o et % s difsm)

T ST T Teh o S U AT AT 3T gl Tia
G o == =TT F T qiF T 7 2|

T G 3T 1o H o 1= i 1o T9 0 g Fi H
F SUT T T i T JeqT, I C F A W q0
ST il HEAT o g9 gl Jied E, S aiew [ F 3
UL TE@T AT 8, T A T 399 &l T4 FIL @7 T
g1 T F Sl aie9 H UH-g8< & A9d dgl W MU &
T B T I D % FHI TG AT g AT S E &

I=r T@T 3T Bl

following
answer the

Q9. Which box is placed exactly in the middle of
the arrangement?

FI-TT FTF HTEAT 6 316 Hed H 7T AT 2

(@) A

(b) E

(c)C

(d) D

(e) None of these / TAH & FIs AGT
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Q10. How many boxes are placed between boxes A
and I?

T A 31T 1 o 1= Fohare iy T 0 872
(a) Two/ &r

(b) Three/

(c) One/ TH

(d) More than four/ =< & s7fers

(e) None of these / THAH T TS AT

Q11. If box F is placed immediately below box D,
how many boxes are there between boxes F and G?

T T F 0 T D o S A= T@T 47 &, al aiag
F 3 G % o= foha e 57

(a) Two/ &1

(b) Three/ =

(c) One/ TH

(d) Four/ =1X

(e) None of these / THH & &I Ag!

Q12. The numbers of boxes are placed between
box G and box H is same as the numbers of boxes
are placed between box ____and box __.

T G 3T atF H o 1= 7@ 0 19 T G&I1 3a-
&R ate dvate s Ao am
T T HEAT B

(@a)CH

(D) F,G

()G A

(dH,B

(e)L,C

Q13. Which of the following statement is true?
Aefortad & & FI9-971 F37 97 872

[. Box F is placed above the box E

7o F T 9199 E o SIC @I TaT g

[I. More than two boxes are placed between box A
and box I

T A S T 1 3 o= &7 & STereh e <6 T 8
[1I. No box is placed below the box H

T H o 1= TS 19 Tgl T@1IATg

(a) Both II and 111/ II &< I1] ST

(b) Only I/ Faer I

(c) Both I and II/ I 3% 11 =141

(d) Only 11/ =<t 11

(e) All I, Il and 111/ /sf 1, 11 3% 111

Directions (14-16): In these questions,
relationship between different elements is shown
in the statements. These statements are followed
by two conclusions. Mark answer as

A WA H, FAAT H QA Tt F S g9g g9
TAT 81 T FAAT % q1E &I [y g1 I H A '
CEIERENELY

(a) If only conclusion I follows. / Tf& Faer Aot |
AT AT &

(b) If only conclusion II follows. / af% e fAewd
11 SAHT AT &

(c) If either conclusion I or II follows./ &f& AT aT
fehT 13T 11 S8 AT 8

(d) If neither conclusion I nor II follows. / IT< T aT
e [ 3l 7 &1 11 S8 #3dT &

(e) If both conclusions I and II follow. / If% F=T
TAehT 1 30 11 ST Eor #3d &

Q14. Statements/ #IT:J<Q<L=M;K=Q>P
Conclusions/ ;L] <PIL. M > P

Q15. Statements/ FIT: A<K<T=C>Y; T=N>P
Conclusions/ f=d: LN > AILl.C> P

Q16. Statements/ FIT: G=2H>1=L<M; V<K<O
Conclusions/ fA=F¥: L. O = 11.L>0

Directions (17-20):
information carefully
questions given below:
Certain numbers of persons sit in a row and face
north. A sits 3rd to the left of F. Three persons sit
between F and R. R sits 2nd to the left of C who sits
just left of V. One person sits between U and V. U
sits right of C. B sits 2" to the left of N and 3™ to
the right of U. Q sits 3 to the left of D who sits just
right to A. The numbers of persons sit between Q
and R is one more than the numbers of persons sit
to the right of N. No one sits left of Q.

Study the
and

following
answer the
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FRafifea s w1 sagEs stegae fife s
H= few T At % s e

fAfera gt § =t v dftn § 99 ¢ o 397 & A
q9 Fd 21 A, F & a8 & |y #4199 927 81 F #iT
R % &= i =afxr &5 81 C, STV F 31 arff e a1
g, R 39 a18 & gL T 92 927 81 U ST VaF &=
U AT 93T 81 U, C & 10 37 81 B, N % 70 | gAY
TATT U 3% U o a0 | S £ 9T 93T g1 D, 5T A
* T I F3T 7, Q IHF AT F A6 TATF X F27
Q 3T R % &= o =ARAT l F&AT, N & T2 A 9
ATRAT T H&AT & T AT gl Q F a1 AT HIS Agl
IT 2

Q17. How many persons are there between D and
Q?

D 3% Q F &= foha= =T~k 872

(@1

(b) 2

(c)3

(d) 4

(e)5

Q18. Which of the following statements is true?
et Fudt § § F-91 97 82

(a) B sits to the immediate right of N./ B N & 3t&
2T AT 2

(b) U sits at one of the ends of the row./ U 9f<F &
BRI L L -

(c) A sits to the immediate left of F./ A, F & &% aTS
N IR

(d) V sits at one of the ends of the row./ V 4f<f &
et TF g I aer g

(e) C sits second to the right of R/ C, R &% T& ¥
T R AT 5

Q19. How many persons sit in the row?
tfeh # fhaw =afr 95 87

(a) 19

(b) 21

(c) 27

(d)17

(e) 18

Q20. How many persons sit between V and B?
V 3T B & &1+ fohae =af=h 98 &7

(@) 9

(b) 2

(c) 4

(d) 7

(e)8

Q21. In the number ‘479486553’, if odd digits are
subtracted by 1 and even digits are subtracted by
2. Then, what will be the sum of the digits which
are 2nd 4th gnd 6th from the left end in the new
number formed after rearrangement?

AT '479486553' |, afe faww =i # ¥ 1 =rerr
ST Sl |9 3/ § § 2 e ™AT AT, a7 [FAa€9T &
ATz At 7 e AT @ & gy, o o g e
T TRT FAT GITT?

(a) 13

(b) 14

(c) 12

(d) 16

(e) None of these/ T8 | #Is A5l

Directions (22-26):
information carefully
questions given below:
FRafife sl w1 samgEs seggaa fifvw six
= R T vt F s o

In a certain code:/ U & e 4:

“Shuffle new word” is coded as “xf bf go”

“Shuffle new word” & “xf bf go” F &1 H Fedg
ERIEIEIES

“New word towards corner” is coded as “xf bf hu
hh”

“New word towards corner” &I “xf bf hu hh” & &7
H Feag AT g

“Towards chapter word table” is coded as “hu gt bf
dm”

“Towards chapter word table” &I “hu qt bf dm”
T H Fedg RAaT T |

“Table around towards” is coded as “dm ch hu”
“Table around towards” #T “dm ch hu” % &7 &
Fedg (AT AT 5

Study
and

the following
answer the
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Q22. What is the code for the word “Towards”?
9158 “Towards” # o7 Fe F47 872

(a) bf

(b) hu

(c) qt

(d) dm

(e) None of the above/ SYZIh & & &l Agl

Q23. What is the code for the word “chapter”?
“chapter” 2153 & foIT e 47 22

(a) bf

(b) hu

(c) qt

(d) dm

(e) None of the above/ IUZI<h | | &S dg!

Q24. Which of the following word is coded as “ch”?
Aot & & e o52 1 "ch" % &9 § Feag &ar
AT 272

(a) New

(b) Word

(c) Towards

(d) Around

(e) None of the above/ U<k | | &S gl

Q25. What is the code for the word “Table new
corner”?

“Table new corner” 9153 % o7 %e 4T 52

(a) bf go hh

(b) hu hh dm

(c) qtch hu

(d) dm hh xf

(e) None of the above/ U<k & | &S A5l

Q26. Which of the following word is coded as “xf"’?
Referfea # & o asg &1 "xf" % =7 § Feag BHAr
TAT 272

(a) New

(b) Word

(c) Towards

(d) Chapter

(e) None of the above/ SUZIh & H &< Aal

Directions (27-31):
information carefully
questions given below:
Seven persons from M-S live in seven storey
building and belongs to different countries viz.
[taly, Canada, Germany, China. Spain, India and
Brazil but not necessarily in the same order. The
bottom most floor is numbered as 1 and so on till
the topmost floor is numbered as 7.

S lives two floors above the one who belongs to
Brazil and live on prime numbered floor. More
than two floors gap between S and the one who
belongs to Canada. N belong to Spain and lives
three floors below the one who belongs to Canada.
O lives just above the one who belongs to Italy. The
numbers of persons live below M as same as live
above R who lives just below P. The one who
belongs to China lives just above the one who
belongs to India.

Rafafea sl #1 samgEs srerw fifve s
= R T et F s9 i

M & S T |Tq SAT<h 9T HIoTaT ST | @&d @ AT
AT Tort o717 Taett, FATST, STHAT, T, T, 97
AT AN | g oATehed SIS Aal (o =l /7 | il
qarg A=t Jiorer &7 1 & FHTha AT 3T § &
THT I FHH T Hed g0 qad FOL Jiored &l 7 |
FHI TR TRAT AT 2|

S, TStier & Hafera safxe &1 §fer S9¥ Tgar g 3w
FTST HEAT ATAT HioreT U TgaT gl S T FATST &
T A<k o o919 &l HiorAl 9 72 &7 a< gl N
T | Hated g AT wATer | gatgq Ak F di
giorer s T2aT gl 0 el | Hafdd ok & 3%
T TZAT gl M % A= L@ aTel SA<hIT %l §EAT, PF
ST T TgT a7l R % 39T g aTel ARl il HET
F qHTE gl ST ARk 99 ¥ g, 98 AT ¥ "ared

=T<R o ST FUT TEaT &l

Study the following
and answer the

Q27. Who lives on the 5t floor?

53T HISTeT 9% FiIF T8aT &2

(@) Q

(b) S

(c) The one who belongs to Italy/ g =<k ST Te=AT
GEEIRGE

(d)R

(e) Both (a) and (c)/ (a) 3% (c) ==
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Q28. Which country does O belong to?
0 ey T & w27

(a) India/ |TZT

(b) None of these/ TAH & IS Aol

(c) Brazil/ sTsfier

(d) China/ ==

(e) Germany,/ STHHT

Q29. How many floors are there between P and
the person from Canada?

P 31X FATST o 1<k & a1 fha=l HioTol 57

(@1

(b) 2

(c)3

(d) 4

(e) Cannot be determined/ MeTa =g fraT T
QehdT

Q30. Which country does the person on the 3rd
floor belong to?

LT wiorer &7 =A<k fohe <91 T 87
(a) Germany/ STH+T

(b) Brazil/ sTsfier

(c) Italy/ Za=tt

(d) China/ =+

(e) Canada/ &ATST

Q31. If all the persons live in alphabetical order
from top to bottom then how many persons
remain at the same position (Excluding M)?

afs gt =fF 999 I F a9 f= TF F0iGHA §
Tgd & ar fohad =ATh U gf T 9 a9 gd 52 (M
T BIEHT)

(a) One/ T

(b) None/ &I T5t

(c) Two/ =T

(d) Three/ &=

(e) More than three/ @+ & a1fars

Directions (32-34): Study the following
information and answer the questions given
below:

W walks 8m towards west from point P to reach
point Q. He takes a left turn from point Q and
walks 10m to reach point R. He takes a right turn
from point R and walks 12m to reach point S. He
takes another right turn from point S and walks
6m to reach point T. He takes a left turn from point
T and walks 8m to reach his home.

FraffRm T #1 qerE At @ A Ru
T At ¥ I AR

iz Q o g 3 o w g P & wf A i
fiex wrofat 21 7 g Q & ard e gt € e fig R
g 7 P 10 e o 81 7 R R A e
A7 WEaT £ e iy S 9% e ¥ R 12 e
weraT g1 a2 fog S & weh o R &g qEar § Eiw oy
T T Tga % [T 6 Hled FdaT gl 98 &g T & a10
ST & ST S AT qF TEAA F {0 8 +ffew ern
2l

Q32. In which direction is point T with respect to
point to Q?

fifg Q¥ |Tirer & fiig T vy fem 7 27

(a) North/ 3<X

(b) South/ =feyor

(c) South-east/ Tferor-49

(d) South-west/ aferor-afara

(e) North-east/ B_rr{-‘?ﬁ
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Q33. What is the shortest distance between point
S and W’s home?

W 3 =¥ &Y f&g S & &= =gaaw g1 At 82

(a) 22m/22 Hiex

(b) 10m/10 H=x

(c) 12m/12¥tex

(d) 26m/26 H=x

(e) None of these/ T7H & FI< Al

Q34. What is the total distance travelled by W?
W BTRT O &l T8 Tt g1 Tohaeil 57

(a) 47m/47 "X

(b) 40m/40 HTex

(c) 44m/44 HTex

(d) 41m/41 #Tex

(e) 36m/36 HIZT

Q35. Find the odd one out?
IHHT FIT 970 ST 97T 2T
(a) UPR

(b) RMO

(c) LGI

(d) GBE

(e) YTV

Directions (36-40): Study the following
information and answer the questions given
below:

Eight persons sit around a circular table in which
some of them face inside and some of them face
outside.

H sits 3rd to the right of K and both face the same
direction. I sits opposite K but both face opposite
direction. L sits 2nd to the right of I. F sits opposite
D who sits 21d to the left of E. Inmediate neighbor
of E face opposite direction as E faces. G sits 314 to
the right of D and not an immediate neighbor of I
and K. L and E face inside. G and F face the same
direction.

Fafife sma #71 sregge e i =9 ko
T T o S 4iforg)

TS FTE TF TATRIE TS F AR AT 9 8, o8 T
TS 1 @ AT 6l AR ¢ AT T 1 G a1 6l A
El

H, K % 3@ & i\ &419 9T 927 ¢ &iT 41 1 99
TaTe R § 21 1, K & fodra d1 g ofha M1 &7
e fadia e &t w81 L, [ 30 g8 #1997
3T 81 D, ST E % aT¢ gAY €19 9¢ 997 g, F 396
foda 927 81 E % Aeeqw a2t &1 9@ E & faudiq
fReT § 21 G, D % I F F|Y TATH 92 d37 § T |
ST K T fAehean 92t 981 €1 L 3% E &7 99 337
#T ST g1 G 3T F &7 4@ A Q97 H 8|

Q36. Who sits 3rd to the left of F?

F % 910 | T T 9T HIF 937 872
(a)H

(b) L

(c)1

(d) G

(e) None of these / TH | s gl

Q37. Who sits opposite the one who sits just right
of G?

G 3% TTT 96 SATh & [@AId i 97 872

(a) L

(b) I

(0 H

(d) None of these / Z7H H #Is gl

(e) F

Q38. How many persons sit between E and I when
counted from the right of I?

I % aT% A & Radr ®39 9¢ E 3 1 & &= foha
=IfF 95 82

(a) Four/ 91X

(b) Three/ 1=

(c) One/ TH

(d) None/ &1 751

(e) Two/ =T

Q39. Which of the following is true?

Forerferfar # & Fr-aT 7 2

(a) G sits 2nd to the left of I/ G, I 3 aTdT AT agﬁ
AT AST 8

(b) H and F face the same direction/ H 3T F U= &
faom &t AT 3@ 2

(c) L and D are immediate neighbors / L 3fiT D
eeaq T2t g

(d) E and G face opposite direction to each other /
E 3% G Us-gav #i fFoda o i e svqe §

(e) All are true/ &5t 7 3
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Q40. Who are the immediate neighbors of E?
E % [Hehed® T=THT H19 87

(a) Kand F/ KT F

(b) Land D/ L 3T D

(c) Gand K/ G 3fiTK

(d)Iand H/ I 3T H

(e) Dand G/ D 3T G

Q41. A and B entered into a partnership business
with 1300 & Rs. 500
respectively. After six months, C joined them with
investment of Rs. 1800. At the end of a year, the
profit share of C is Rs. 360. Find the difference
between profit share of A and B.

A ST B 7 ®H: 1300 ¥ ST 500 F9F F Haer
AT ATHIRT | UF FF9T % 471 B8 g4 &
7%, 1800 FTF & THarer & AT C 39 a1 [ AT
UF 99 % 3 |, C T ATH 360 €I gl A 3T B & ATH
F =1 3L AT FIforU)

(a) 480 Rs./ 480 &9

(b) 280 Rs./ 280 =X

(c) 400 Rs./ 400 =7

(d) 320 Rs./ 320 =07

(e) 180 Rs./ 180 =0

investment of Rs.

Q42. Five years ago, the average age of A and B
was 15 years. The ratio of present age of A and C is
6 : 5 respectively. If B is four years younger than C,
then find the sum of present age of B and C (in
years).

qf= A9 T2, A 31T B T 3 Ea o 15 a9 ot A i C
FT FAHTH AT FT SATATT FHL: 6:5 81 IX B, CHF A
9 ZraT g, 91 B 3% C Fit I8 &1 F7 IR (T H)
ST FrforT

(a) 34 years/34 a9

(b) 32 years/32 a9

(c) 36 years/36 a9

(d) 24 years/24 T

(e) 40 years/40 T

Q43. The average weight of eight people is X kg.
Two new people joined them with total weight of
151 kg and average weight of all people increased

by % kg. If the weight of lightest people out of two

people joined is X—5 kg, the find the difference
between weight these two people who joined later.

AT ATHAT FT 39T Fo X TRerRm 81 &7 917 6
IR AT S U T F o= 151 Fhewms ar
T T AT FT e ForT 3/2 TR 57 =
T oA g0 a7 AT | | qa9 ook AN T aoid
X-5 FFe T 8, 7 978 § TTHe g aTel A1 AR
S o T T AL AT o0

(a) 27 kg/27 FReRITH

(b) 21 kg/21 T

(c) 15 kg/15 TrarrumH

(d) 25 kg/25 Tererramy

(e) 22 kg/22 TherRITH

Q44. A gets 40% marks in an exam and he
received 40 less marks than passing marks. B gets
70% marks in same exam and received 20 more
marks than passing marks. If C gets 65% marks in
the same exam, then find the difference between
marks received by A and C in the exam.
AFTTF TEET F 40% % T 21 2 o 39 It
ST T 40 3% FH ITH gId gl B &l IHT TAT H 70%
S ST T & i R SOt st A 20 o A o
2T gl TR C T THIT ILeAT § 65% 3 Herd g, ar
THAT H A 3T C 1T 9TH Sl & &= sa< Aq
NI

(a) 30

(b) 60

(c) 40

(d) 25

(e) 50

Q45. A man invested Rs. P in scheme A on
compound interest at rate of 10% p.a. for two
years and he invested Rs. (P+500) in scheme B on
simple interest at rate of 12% p.a. for same period
of time. If the interest received by man from
scheme A is Rs. 150 less than that of from scheme
B, then find amount invested in scheme B.

8 | www.sscadda.com

www.bankersadda.com |

www.careerpower.in | Adda247 App


http://www.sscadda.com/
http://www.bankersadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

UF Ak F JI9T A ® &7 a6t & e 10% arfis &<
Tl AT 9 P &9 &1 fAeer f&ham i 3o+
T AT F 0 12% i =T | aremor sq1st
I AT B ® (P+500) =07 &7 foerer foram ot =t
T ATSAT A | ITH ST, TTSAT B | 978 =471 ¥ 150
T K g, a JroWT B ® fAeer #i wE wfer e

EqNE L

(a) 1250 Rs./ 1250 &9
(b) 1000 Rs./ 1000 &7
(c) 1500 Rs. /1500 =
(d) 2000 Rs./ 2000 &7
(e) 2500 Rs./ 2500 =07

Direction (46- 50): Find the wrong number in
the given number series.

&1 TS YT AT A T H&AT 71 Hifo)

Q46. 6400, 400,50, 12.5,6.25,3,12.5
(a) 400

(b)12.5

(c) 6.25

(d)3

(e) 50

Q47.34,32, 36,30, 38,48, 40
(a) 34
(b) 32
(c) 48
(d) 36
(e) 30

Q48.43,47,56,72,108, 133,182
(a) 72

(b) 56

(c) 43

(d) 47

(e) 108

Q49.12, 28,60, 108,172, 256, 348
(a) 12

(b) 28

(c) 60

(d) 256

(e) 108

Q50.3,7,27,112,565, 3396, 23779
(@7

(b) 3

(c) 27

(d) 565

(e) 23779

Direction (51-55): The table given below shows
the total number of rooms available in the five
different hotels (A, B, C, D and E). It also shows
the number of vacant rooms in these five
hotels. Read the data carefully and answer the
following questions given below.

= < T qUfrERT I - Frewt (A, B, €, D
T E) § IqAsy FHU T For G&AT FLATAT gl TG 3
T greal B @reit FA hr gear oY qaidt 81 sieRst
F LAWMIET FeAqT Hiog AR A Ry W@

et i % saedifsm)
Hotels/ | Total number of | Vacantrooms/
EES rooms/ FHL} Y T FHL
%A AT
A 220 110
B 250 150
C 280 180
D 260 130
E 310 120

Note: Total number of rooms available in a hotel =
Vacant rooms + Occupied rooms

qe: TF Fed H Iuedl FHU Al T AT = GTeAl
FH + ﬂ;{@'{ﬁ?ﬂ%

Q51. Find the average number of occupied rooms
in hotel B, C and E together.

gied B, C 3T E & fHemse 9 gu w8 il ofieq aedr
T o)

(a) 130

(b) 120

(c) 140

(d) 150

(e) 110
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Q52. In hotel F, total number of rooms available is
25% more than that of C and the number of rooms
occupied is 40% more than the rooms vacant in
hotel E. Find the total number of rooms vacant in
the hotel F.

2ed F § SUed HAT hl T 9T, C § ITAed FHI
& FoT TEAT F 25% ATTF € T 9 g FAL Al
T, glee E | @Il FH &l qaqT § 40% 3TTae &)
gIed F § Gt FH il T AT 7T i)

(a) 184

(b) 180

(c)176

(d) 182

(e) 178

Q53. The cost of a room in hotel A is Rs. X and the
cost of a room in hotel C is Rs. Y. If the revenue
generated from the hotel A is Rs. 55000 and the
ratio of revenue generated from C to A is 10: 11,
then find the sum of X and Y.

g A § UF FHL &l HhiHd X 9T ¢ A gread CH
UF FHC i HAd Y T g1 I e A gT fhord
AT 55000 FIT g qAT C AT A gTT AT 0T FT

AT 10:11 8, AT X 3T Y FT TRT AT shl o0
(a) 2000
(b) 4000
(c) 5000
(d) 3000
(e) 1000

Q54. Find the number of rooms vacant in D is

what percent of the total number of rooms in the
hotel B.

AT AT &6 D | ATt wAL Al §E&4T, gled B |
FHI! 1 T HEAT AT (v T TTA9Td 22

(a) 55%

(b) 52%

(c) 58%

(d) 60%

(e) 62%

Q55. Find the number of rooms occupied in hotel
A and D together are how many more/less than
the number of rooms occupied in hotel E and B
together.

A ST D § T AY g0 FAL il 9T, Zlee E ST B
¥ e AY U FH i T & Rt stfee /w87
(a) 60

(b) 80

(c) 50

(d) 20

(e) 70

Direction (56-60) What approximate value
should come in the place of question (?) mark
in the following questions.

Rufafeg v § wfReT (2) % =uw w Gaer
ATATIAT | AT AT T?

107.97
?

Q56.98.99 + 19.98 - 101.03 =

(a) 2
(b) 4
()6
(d)8
(e)12

Q57.4?=(27.99)% — 1180.03 + (20.07)?
(a) 64

(b) 100

(c) 16

(d) 36

(e) 144

Q58.19.09% — 20.04% of 190.04—? = 90.12
19.092 — 190.04 T 20.04% —? = 90.12

(a) 233

(b) 247

(c) 212

(d) 202

(e) 285
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Q59.32.01 +~1.992x 127.99 =27
(a)11

LK

(c)8

(d) 10

(e)12

Q60. 24.01% 0f 449.98 + ?2 = (16.01)2 - V63.93
449.98 FT 24.01% + 72 = (16.01)2 - /63.93

(a) 8

(b) 12

(c)10

(d)9

(e) 14

Q61. In a mixture, the quantity of milk is x liters
and water are 8 liters. Five liters
pure milk and six liters of water added in the
mixture so that milk becomes 75% of
resultant mixture. If 10 liters of resultant mixture
is removed, then find the
remaining quantity of mixture (in liters).

U T § gor T AT x AT A qIH1 6 /=T 8
e gl o #§ 9w e 948 39 IR =R
S rex aTeT AT STaT g qTieh 387 IOt [Fesqor &7
75% a9 ST FfT qRomHr Ao ¥ 10 Fre]
fReTer fom s, v ffsor i o9 /T AT (el )
Ffsm
(a) 48
(b) 42
(c) 56
(d) 46
(e) 37
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Q62. In a right-angled triangle hypotenuse is 8v10
cm and based is half of the height. If height and
based of the triangle are equal to height & radius
of a cylinder, then find

curved surface area of cylinder.

TS FHFHOT 9T | F7 8410 T g % e F=ars
T SATGT B AT ST 6T SATS 3T ST TF o hl
TS X Bear F 9@y g, v 999 #7 9% g5
FAFRA T o0

(a) 512 cm? /512 T312

(b) 256 w cm?/256 T THT2

(c) 128 w cm?/128 T2

(d) 556 ™ cm?/556 T HHT2

(e) None of these /ZH & Fls A5l

Q63. The ratio of speed of P to speed of Q is 5:8, P
covers D km distance in 3 hours and Q covers
(D+40) km in 2.5 hours. If P increases his speed by
25%, then find the time taken by P to cover
(D+180) km distance. (in hours)

P #T AT &7 Q I AT F 9T 5:8 T, P, D ToheT T
T 3 W # T FAT £ A7 Q (D+40) Bl Fr T
2.5 9 § qF FAT gl Afe P qAT AT 25% ET <t
g, 1 P 311 (D+180) et &t &t axr iz # foraw
AT FHT AT 0| (S2) |)

(a) 6

(b) 5

(c)8

(d)7.5

(e) 4.5

Q64. The sum of five consecutive multiples of four
is 200. Find the smallest multiple.

T & T FAET O FT IR 200 g1 Fa9 SreT
UTST ST i

(a) 28

(b) 44

(c) 36

(d) 32

(e) 40
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Q65. The speed of boat A in still water is 4 times
the speed of stream and covers 24 km upstream in
8 hours. If the speed of boat B in still water is 2
kmph more than the speed of boat A in
downstream, then find the time (in minutes) taken
by boat B to cover the same distance in upstream.

9TTe ITHT H ATdr A T AT, T I ATA AT 4 AT &
3T 8 = § o & faudia 24 feft & I a7 s

S| FTT o IT+T § 919 B T ATA, 91T & A% 419

A #F = & 2 Tt wfa ser ofgw g, ar g &
T a9 @ 97 FF § 919 B g foram
T (et /) sma fiform)

(a) 210

(b) 180

(c) 240

(d) 300

(€) 360

Direction (66 - 70): The bar graph given below shows total number of people (Vegetarian + non-
Vegetarian) visited in five (A, B, C, D and E) different restaurants daily. Read the bar graph

carefully and answer the questions.

T e T = s wifew i B e (A, B, C, D 3R E) & ST= a1 AT (ATRTETRT + HiETeRt)
T T AT FT ILATAT &1 & AT FT SATYEF T2T T T F SAL A7)

160

140

120

104

an

&0

20
A B C D E

B Vegetarian f W E’I’Iﬁlﬁﬁ

Q66. Total
Eth of total

vegetarian people visited in F are
non-vegetarian people visited A and
total non-vegetarian people visited in F are 50%
more than total vegetarian people visited in B.

Find total people visited in F are how much more
than total non-vegetarian people visited in D.

F & ST aTel e ATREIRT AN, A | S a7l $
WWW%%‘@TFﬁwM AT T AATEI
ANTT 0 TEAT, B § ST AT §f ATRIGRT @I i

B Nor-Vegetarian / m ﬂm‘lﬁﬁ

TAAT H 50% =Ater® gl 1 hiforg o F & S0 arel
FA AN, D H ST AT T AIHTGIT AN 6l T |
o arfere 272

(a) 210

(b) 240

(c) 260

(d) 200

(e) 180
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Q67. Total non-vegetarian people visited in C and
D together are what percent (approx.) more or less
than total people visited in B.

C 3T D # e T et AT &R, B ¥ M0 e
AT T AT H oy Ifqard (FT9RT) etfers a7 &9
27

(a) 83%

(b) 67%

(c) 44%

(d) 71%

(e) 69%

Q68. If daily same number of vegetarian and non-
vegetarian people visited in restaurant D, then find
total number of people visited in a week in
restaurant D.

Ifx Werie D § gfdfad 90T 96T § ATt 3T
TTETETET ART ST 8, A7 <eiie D § U 9a1g § S
FTSr ARTE 30T e HEAT AT (0]

(a) 1290

(b) 1330

(c) 1310

(d) 1320

(e) 1270

Q69. Find the ratio of total people visited in E to
thatin A.

E § 70 F AR &7 A H TT TeT AR & AT AT
N

(a)23:21

(b) 25:27

(c)23:25

(d) 23:27

(e) 28:27

Q70. Total vegetarian people visited in A are what
percent more than average number of non-
vegetarian people visited in B and D together.

A H T FTA ATREHET @0, B 3w D § A 10
WIETETT ARM 6T fea g ¥ o wfaera afas
7

(a) 25%
(b) 5%
(c) 10%
(d) 20%
(e) 30

Q71. Average of present age A, B and C is 14 years,
while four years ago, average age of B, C and D was
15 years. If the sum of present of A and D is 27
years, then find the age of D five years hence will
be (in years).

A, B 3T C &t G919 g &7 9qd 14 99 g, ST
I a9 92 B, C 3% D &t =f&q amg 15 a7 off| afs
A ST D Y AT A T IRT 27 a9 ¢, a1 T a9
T D T 3 ATq HITorT| (TT H)

(a) 21

(b) 26

(c)17

(d) 27

(e) 29

Q72. A seller has 230 kg of mangoes which he
purchases at rate of Rs. 10 per kg. 20% of total
mangoes were rotten in packaging and thrown
away. If seller sold half of the remaining mangoes
at the rate of Rs. 20 per kg, then at what price (per
kg) should seller sell the remaining mangoes to
gain a total profit of 15% on the total quantity
seller had initially (in Rs. /kg)?

U Tohar & 99 230 A o g 5 ag 10
=9 g Rerm &t &% ¥ @=ar gl T Al § J
20% | TS | °F U ST Ive Wb AT AT
Tfe fashar 9 a= gU oAl § § g w7 20 w0 qiT
Rerarrer 1 2w & 3= 21, &1 Bear 1 A et
e fig (9 BFT) 9T g=ET AU arle
TarsRdT T 0% § T |TAT 9T 15% FT FT ATH AT &l
7 (/e )

(a) 8.75

(b) 8.25

()85

(d) 9.25

(e) 9.75
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Q73. 30 women working 9 hours in a day can pack
1000 parcels in 10 days. If the efficiency of woman

is %% more than that of a man, then find how

many men will pack 1500 parcel working 5 hours
a day for 10 days.

30 ufgemd v fod ® 9 =5 #19 w6 10 foai #
1000 9TES % FT ThAT gl AT FiZHAT i FoAaT,
TR AT AT H 2% Afdw g, A s i
oA =9 10 &A1 @ wfafes 5 =< 718 Fh 1500
qTTHA T A2

()52

(b) 42

(c) 44

(d) 48

(e) 50

Direction (74- 75): Given below in each
question there are two statements (I) and (II).
You must determine; which statement is
enough to give the answer of question. Also,
there are five alternatives given, you have to
choose one alternative as your answer of the
questions:

= T T w@% v | & Fu (1) 37 (1) g SOt
RAfsra w7 g & 7o 1 S 3 F o Ae-ar e
qafa & &% e, g e R e § s
T % S F €T H TH [Ahed 4T B

Q74. Find out the length of train X given that
speed of train X is 20 m/sec.

A X Y ware w19 fifore, s = X f =319 20
Hev/ase 2|

I. Train X crosses another train Y moving in
opposite direction in 6 sec and the speed of train Y
is 50% more than the speed of train X.

o X T fRem & =1 W @ oA Y F1 6 qHS H
I FAT g T 9 Y &t =1 29 X Fr =1 ¥ 50%
It 2

II. Length of train Y is 50% less than length of train
X.

I Y it FaTE o X HF Fars § 50% FA 2

(a) Both I and II together/ I 3¥ 11 FTHT THHATT

(b) Only statement I/ Faet HIT |

(c) Only statement II/ &l FI 11

(d) Both I and II together are not sufficient/ I 3% II
FAT T 97 90 T8l

(e) Either I or Il alone/ IT AT 3Tehet 1 AT 37ehed 11

Q75. Side of square is 3.5 cm more than radius of
circle. What will be area of square?

FIT T ST g7 AT & 3.5 HHT ATer® gl avt &7
S FAT gIIT?

I. Difference between circumference and diameter
of circle is 45 cm.

T T T 3T 2ATH % A9 F7 Aaq< 45 JHT g
II. Radius of circle is 50% more than breadth of
rectangle whose length

is 15 cm. Ratio of
circumference of circle & perimeter of rectangle is
3:2.

Fq &t oA, 15 9T Fare aTe g & 9iEre |
50% eTfers g1 T sl TIfer T S i aifer &
AT 3:2 T

(a) Only statement II is sufficient

FAA FAT [ T3 &

(b) Either statement I or Statement II alone is

sufficient

IqT T FAT [ T F9 11 37t TATH &

(c) Statement I and II both together is sufficient
o | 3 11 191 TS 9478 &

(d) Only statement I is sufficient

FAA HAT [ TATH S

(e) Neither statement I nor statement II is
sufficient

AT FAA [ ST T L FAA [ THH 2

Direction (76-80): Solve the given two
equations and mark the correct option based
on your answer.

fRu 1o & gefiwen @ g i SiX s SR F
T I T2t faeweq &t sifaa Hifsm)
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(a) if x>y/ T x>y

(b) if x>y/ 7T x>y

(c) if x<y/ TT=X x<y

(d) ifx <y/ T x <y

(e) if x = y or no relation can be established
between x and y.

i x = y AT x 3T y & = Frs Gaer eAriua Agt
ST &l 2

Q76.1.2x2 -17x+21 =0
IL3y?2-x-4=0

Q77.1.2x2 - x -45 =0
IL2y2—5y+3 =0

Q78.1.2x2—23x + 66 = 0
IL. 3y2—-16y+21=0

Q79.1.2x2+16x+24=0
IL. 6y?+ 13y +6=0

Q80.1.12x*-12x=13x-12
IL12y*-13y+3=0
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